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NAME:_________________________
Environmental Science 3205

Section A Completion: 

1. The first settlers were people of the sea;  they rarely travelled more than a few kilometres inland except to cut timber or ________________________ or occasionally to hunt caribou. p180

2. Today people also have access to the province wilderness using developed trails, abandoned rail beds, transmission lines, and ___________     ____________ created for timber harvesting, mining, and hydro development, as well as rivers and lakes. p180

3. Almost all of Newfoundland and Labrador is __________    _____________ (approximately ninety-six per cent, the highest percentage of any province in Canada).  P180

4. Many problems can be dealt with through public awareness and education, by adopting environmentally friendly technologies and good management practices and, of course  by applying _____________   ______________. P181

5. Hunters, trappers, _______________________, backpackers, canoeists, and ATV users all value the outdoor experience, but each group accesses and uses the outdoors in different ways and for different reasons.  P181

6. Newfoundland and Labrador's early settlers were fisherpersons who did not travel far inland, but the completion of the trans-Newfoundland ______________ in 1898 changed that, opening up the interior of the island portion of the province  p182

7. The first regular _____________    _____________ departed from St. John's in June of 1898 on a 548-mile journey to Port aux Basques  p183

8. For years, the ________________   _______________ left St. John's in the early morning of the May 24 weekend, heading for Argentia.   p183

9. By opening the interior and allowing hunters greater  access to ____________  _________, the railway may have affected  caribou populations on the Island. By 1930, caribou numbered no more than two thousand animals  p183

1 0. The first cabins in the interior of Newfoundland were built along the ____________     _________. Regular scheduled service provided cabin owners with easy access. The Gaff Topsails east of Howley,was a particularly popular area; more than fifty cabins are still there today.  p183

1 1. Forestry, mining, and ______________  _______________ all require access roads  p184

1 2. Today, Corner Brook Pulp and Paper  constructs more than 100 kilometres of main forest access roads and an additional 100 kilometres of _______________________ roads every year.  P184

1 3. In addition, forest soils can be changed in at least two ways by access roads: through ____________ or through removal (for fill). P185

1 4. When used improperly or in _______________ environments, ATVs cause damage to soils,water, beaches, vegetation, and wildlife. In addition, the noise of the machines can disturb both wildlife and other people who are enjoying the outdoors for its peacefulness. P189

1 5. ATV access puts _________________ on trout and salmon spawning areas that were previously inaccessible because they were too far inland to reach easily on foot.  p189

1 6. Manufacturers of  ________________, outboard motors, and other recreational vehicles now make units powered by fourstroke engines, which have a cleaner exhaust than machines with two-stroke engines. P189

1 7. Four-stroke ____________________ also have approximately 40% better fuel economy than two-stroke snowmobiles  p190

1 8. ___________________ from two-stroke engines can be reduced in two ways: by direct fuel injection and by using a catalytic converter on the exhaust system. p191

1 9. _____________    _______________ are designed to convert carbon monoxide, hydrocarbons, and nitrogen oxides into harmless compounds before they exit the exhaust pipe. P192

20.  A 70-horsepower two-stroke outboard motor releases about the same amount of _______________ pollution in one hour as a new car does when it is driven 8,000 kilometres.  P193

21. The personal ________ (PWC) is designed and marketed as a form of high-speed recreation   p193

22. Newfoundlanders and Labradorians use ATVs for ________ and to gain access to remote areas  p194

23. Forest floors, barrens, beaches, and wetlands are all ______________________ to ATV damage.      P 198

24. It can take __________________ and bogs up to fifty years or more to recover from damage (which can be caused even by walking on them). p 198

25. The use of ATVs in the fall hunt and snowmobiles in the winter hunt can contribute to achieving ___________________ hunter success rates, and allow better management of the resource. p 198

26. Disturbance of the vegetation and soil in _____________________ zones can have a serious impact on both habitat and water quality. P199

27. When snowmobiles travel over __________________, they can cause a thick band of hard frozen snow to build up, which takes longer to melt than the surrounding snow and ice. p199

28. Driving ATVs in _____________________ areas when fish eggs are incubating in stream gravels can destroy the eggs.p199

29. Recreational vehicles destroy areas of tree _______________ by breaking or crushing young trees. p 200

30.  The first snowmobile was built and tested by a Canadian, Joseph-Armand Bombardier, in _______.  p203

31. The introduction of the _______  in 1958 started a snowmobile boom, opening up new recreational opportunities for Canadians in winter. p203

32.  The winter ___________ of the Arctic hare includes small valleys, rock outcrops, and wind-blown areas  p204  

33. Arctic hares have a low ______________ rate for  their size, an adaptation that helps them survive in very cold environments.  p205

34. ____________________ moss bogs are very sensitive  to Snowmobile traffic. p205

35. Snow is the natural __________________ that keeps the  ground warm during a long cold winter p 205

36. Snow compaction can result in soil temperatures up to 11?C cooler than under _____________ snow p205

37.  The soils in Newfoundland and Labrador have taken thousands of years to form and have _____________________ from rock and organic matter. P 207

38.Measurement of _______________ rates has shown that one litre of water takes up to 86 minutes to soak into the ground at a high-usage picnic site but only four minutes at an undisturbed site. P208

39.____________________________ is a measure of the spaces between soil particles  p209

40.Compaction reduces the size of the spaces between soil _______________________. p209

41. ______________________ is the most permanent result of soil compaction, and while wind is the

major eroding mechanism for sand and peat,water is the master of erosion.  P209

42. “Gully erosion occurs when water is concentrated in _______________, roads, trails, and stream banks and wears away soil in a restricted area.  P 209

Section B  Short Response 

43. What effects do road networks have on wildlife, especially interior forest species?

44. Early settlers in Newfoundland and Labrador lived along the coastline and relied on the sea for their livelihoods. Outline three reasons why they might have travelled inland.

45. What positive and negative impacts did the construction of the Newfoundland Railway have on the environment of the Island? interior?

46. List three reasons why access roads are built.

47. Outline the four criteria that must be followed during the construction of access roads.

48. List the environmental damages that poor access-road construction can cause.

``````````
49. List the three reasons why two-stroke engines have such high emissions.

50. List the impacts the following emissions have on the environment:

• carbon dioxide

• hydrocarbons

• nitrogen oxides

51. Explain what an exhaust catalyst is and how it works.
52. Describe five ways ATV use affects wilderness areas.

53. Which types of terrain are most susceptible to damage by ATVs?

54. How has the introduction of the ATV, which made more areas accessible for moose hunting, been useful for managing moose populations?

55. What additional roles do ATVs play in the management of big game populations, especially moose?

 56. If a well-used ATV trail runs parallel to or crosses a steam near a community, how can environmental damage be prevented?

57. What is the Department of Forestry’s major concern about ATV use?

58. How can ATVs damage newly planted and thinned areas of the forest?

59. Outline ways that an ATV operator can reduce the vehicle’s impact on: muddy trails, stream crossings, and wet and boggy areas.

60. Most of the problems associated with ATV use can be dealt with through education and legislation. List six different approaches that could be taken to reduce the impact of ATVs on the environment.

61. Outline the impacts of ATVs on water resources.

62. What processes play a role in the formation of soils in Newfoundland and Labrador?

63. Describe the three soil horizons. Which horizon is the most biologically active? Why?

64. List six ways that recreation can affect soils.

65. What are the effects of soil compaction? How is soil compaction measured?

66. How does a reduction of micro-porosity affect plant life?

67. List ways to reduce recreational impacts on soils.

68. In addition to percolation rates, what other soil characteristics are affected by soil compaction?
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